Tekla Structures

I [
[ /c24 75X148

150

CEMENTITIOUS SCREW EVOLUTION
@ 4.2X42 mm 150 C/C

|
,,,,,, o J”L\gxpiiiiiii 11
I

N\
)
RING GALVANIZED NAILS
@ 2 No 3.1X100 mm

C24 45X148
CONCRETE ANCHOR @ 700 C/C

DAMP PROOF COURSE (DPC)

A PLATE AND B STUD - STANDARD DETAIL

. C24 60X100
FLAT COUNETSUNK GALVANIZED |
SCREW STAGGERED @ 6X150 mm 400 C/C_ |
' B3
B37 ' C24 60X100
C24 60X100 |
/BB
' 7
| 7
/TN
[Bsr];
> C24 60X100 \
_______ =t —\———

. RING GALVANIZED NAILS
@ 2 No 3.1X100 mm EACH END

D STUD - STANDARD DETAIL

MGO BOARD GAP FILLER
@ MAPEI ADESILEX P10 + ISOLASTIC

X

CEMENTITIOUS SCREW EVOLUTION
@ 4.2X42 mm 150 C/C

B56
C24 75X148

B STUD - STANDARD DETAIL

COUNTERSUNK HEAD SCREW SPAX T-STAR
PLUS, WIROX 8X280 mm @ CENTER OF RAFTER

% ;
/ ~~_PLTL1"1436
B243 COUNTERSUNK HEAD SCREW SPAX T-STAR
C24 45X227 / \ PLUS, WIROX 8X350 mm @ CENTER OF RAFTER
G19 \
020 80%227 C24 160X160
B265
RING GALVANIZED NAILS C24 45X148

@ 3.1X100 mm 300 C/C

RAFTER CONNECTION WITH
MGO SIP WALL - STANDARD DETAIL

C24 45X148

FLAT COUNETSUNK GALVANIZED
SCREW @ 5X90 mm 250 C/C

CEMENTITIOUS SCREW EVOLUTION
@ 4.2X42 mm 150 C/C

C STUD - STANDARD DETAIL
OF MGO SIP CORNER

FLAT COUNETSUNK GALVANIZED

SCREW STAGGERED @ 6X150 mm 400 C/C - —a======

D58
C2460X300

B248
C24 45X227

RING GALVANIZED NAILS
@ 2 No 3.1X100 mm EACH END

B248
C24 45X227

D PLAT

B246
C24 45X227

E - STANDARD DETAIL

OF CROSS ROOF BASE PLATE

|
S5 !
C24 45227 ///{,// ME

/,p’ D P
P4

RING GALVANIZED NAILS
@ 3.1X100 mm 300 C/C

\

AR TRRRRRRRRRRY

WASHER HEAD SCREW SPAX T-STAR
PLUS, WIROX 8X300 mm @ 400 C/C

C24 160X160

| s

= @

ROOF MGO SIP CONN

C24 45X148

ECTION WITH

WASHER HEAD SCREW SPAX T-STAR
‘ PLUS, WIROX 8X220 mm @ 400 C/C

RING GALVANIZED NAILS
@ 2 No 3.1X100 mm EACH END

ﬁ

178

C24 75X148 C13
C24 60X140

FLAT COUNETSUNK GALVANIZED
SCREW STAGGERED @ 5X90 mm 250 C/C

WASHER HEAD SCREW SPAX T-STAR
PLUS, WIROX 8X220 mm @ 400 C/C

CEMENTITIOUS SCREW EVOLUTION
@ 4.2X42 mm 150 C/C

C STUD - STANDARD DETAIL
OF MGO SIP AND STUD WALL

FLAT COUNETSUNK GALVANIZED

RING GALVANIZED NAILS

SCREW STAGGERED @ 6X150 mm 400 C/C

@ 3.1X100 mm 400 C/C | 0SB3 25 mm
+2650 )=+~ / -
%
RING GALVANIZED NAILS 7 D7
@ 2 No 3.1X100 mm EACH JOIST | E56 C24 45X148
/ : C24 60X240
P34 v

PLT11*257

RING GALVANIZED NAILS
@ 3.1X100 mm 400 C/C

B103

C24 45X148

C24 60X240

RING GALVANIZED NAILS
@ 2 No 3.1X100 mm

ey

D PLATE & F JOIST- STANDARD DETAIL
OF A FLOOR EDGE

C24 140X140

RING GALVANIZED NAILS
@ 3.1X100 mm 300 C/C

B187

N

COUNTERSUNK HEAD SCREW SPAX T-STAR
PLUS, WIROX 8X280 mm @ CENTER OF RAFTER

G10
C24 80X227

COUNTERSUNK HEAD SCREW SPAX T-STAR
PLUS, WIROX 8X350 mm @ CENTER OF RAFTER

C24 60X140

B133
—C24 60X140

RING GALVANIZED NAILS
@ 2 No 3.1X100 mm EACH END

RAFTER CONNECTION WITH
140 mm STUD WALL - STANDARD DETAIL

MGO SIP/STUD WALL/RIDGE BEAM - STANDARD DETAIL

NOTICE:

EVERY CONNECTION OF TIMBER, EPS AND MGO BOARD

IS GLUED WITH LOW EXPANSION FOAM

RING GALVANIZED NAILS —
@ 3.1X100 mm 150 C/C STAGGERED

|
|
| | , 7
| | | Vi
/ 1
SIS '\ E N 4
[ i
C2445X195 BS__—4 ! ! '
—_— e I
—= S '
[ !
[ |
RING GALVANIZED NAILS Lol | :
@ 3.1X100 mm 150 C/C STAGGERED I ' I
Lo | :
[ !
o ! I _ <
IN | Vv N
I Y W23
A \
I N -_’
Ly
7 N N
/ [ ! N
/ I I B55
2R I I C24 45X148
C24 45X148 : u I
[ !
I !
I [
[ '
I !
RING GALVANIZED NAILS | e—
@ 3.1X100 mm 150 C/C STAGGERED L '
Il !
I I
I !
I [
[ !
C24 45X148 . !
' I
N | '
N I
\ | | .
* I I
77777 = '
| I !
N I
7 ‘\ [ !
7 | L I
Tl - '
- | Il |
D | C2445X148 \: : u I
[ '
T T |
/ I i
RING GALVANIZED NAILS . I

@ 3.1X100 mm 150 C/C STAGGERED _’ |

e
e

S

VRN
'W2)
N

D STUD- STANDARD DETAIL

<
2
[E136 ] [£137 |
C24 45X148 C24 45X148 2
(49253 y-—-—-—-—--? =
9253 =3 Y i E135

RING GALVANIZED NAILS ot 455007 / ., C2A >OUNTERSUNK HEAD SCREW SPAX T-STAR
@ 3.1X100 mm 300 C/C PLUS, WIROX 8X280 mm @ CENTER OF RAFTER

COUNTERSUNK HEAD SCREW SPAX T-STAR
PLUS, WIROX 8X400 mm @ CENTER OF RAFTER

G19
C24 80X227

¥ C2480X227

RING GALVANIZED NAILS
@ 3.1X100 mm 300 C/C

C24 100X100
C24 100X100
GL24 160X280

RAFTER CONNECTION WITH
RIDGE BEAM - STANDARD DETAIL

1 CONSTRUCTION ISSUE 23.06.2017

REV MARK | REVISION DESCRIPTION REVISION DATE

MAG SIP PANEL
TADLEY, UK

DRAWING TITLE DETAILS 1

CONTRACT PROPOSED REPLACEMENT HOME

MODELLED BY RAFAL RYZYK ISSUE DATE
CONTRACT NO 17-001 SCALE 1:10
DRAWING No REVISION No. 1




